9527 MarsHaLL BED ASSEMBLY INSTRUCTIONS

Hardware List:

- 12 pcs Machine bolt - 12 pcs hex bolt 8*35mm
- 8 pcs hex bolt 8*60mm - 1 pc Allen wrench
- 4 pcs hex bolt 8*80mm -1 pc Wrench
1. Insert hex bolt into the holds using Allen wrench for 2. Insert Machine bolt into the holds. Use nuts for locking
locking hex bolt. machine bolt

72
]
Hex Bolt 8*60MM Machine Bolt 8*105mm
ZIl! ™
\ =
7 T

Allen Wrench

\F‘

VANGUARD

WWW.VANGUARDFURNITURE.COM FURNITTURE



3. Insert Machine bolt into the holds. Use nuts for locking | 4. Insert hex bolt into the holds. Use Allen wrench for
machine bolt. locking hex bolt. This is connection between headboard
rail and headboard panel.

Machine Bolt 8¥105mm Ja ]

Allen Wrench o o \7
\Fl

Hex bolt 8*35mm \H

O
//
5. Insert Machine bolt into the holds. Use nuts for locking | 6. Insert hex bolt into threaded insert.
machine bolt.
P
) Allen Wrench
Machine bolt p,‘.; _ Hex bolt 8*80mm

\ & —1 8*105mm |+

" Nuts

Threaded'Insert

VANGUARD

WWW.VANGUARDFURNITURE.COM FURNITTURE



